ワード試験　薬学部
I INTRODUCTION
Since a pioneer work of Kim1, several numbers of investigations are performed to obtain Diarac-Fock(DF) basis sets for molecular calculations. Okada abd Matsuoka2 and Mohanty and Clementi tested sets composed of Gaussian type function (GTFs) which cover He(Z=2) to Hg(Z=80) and HE(2) to Rn(Z=86). Recently Dyall4 developed the moderate size of DF GTF sets for 4p,5p and 6p, elements.

Characteristics of the basis set developed by Okada and Matsuoka2　 and Mohanty and Clementi　are use oh a large number of primitive GTFs (pGTFs) developed for non-relativistic molecular calculation. The large sets are chosen in order to avoid the variation collapse probably first discussed by Asaad5 and by many investigators1,6-11..For example Okada and Matsuoka used (23s21p13d) GTFs for Xe(z=54) and obtained-7746. 8977 hartrees and Mohanty and Clementi used (33s26p20d) and obtained -7446. 8977 hartrees. They can be compared to the numerical Df value of -7446. 9000 harttrees which Mohanty and Clementi referred. It will be shown that the present reference value for the atom is -7446. 8939 hartrees and the origin of this difference will be explained in selection II.
   The variation collapse is known to be suppressed by the use of the kinetic balance9-17
Where  and are the small and large components of the spinor, respectively,an, 
25分じゃ無理です。あきらめなさい。館脇さんの指示の注意。
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(2-1)桁
(2-2) 送信側のメールサーバをSMTPサーバ，受信側のメールサーバをPOPサーバという
ネットで調べればOK。ここで時間を稼ぎたい。
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(3-1) ｛rR(r)｝^2に、区分数が１００であるので、0.1ずつrに代入する。１００個の総和のΔｘすなわち(上限―下限)/（区分数）をかけることにより求めることができる。この場合は0.1である。
	r
	2*exp(-r)
	(rR(r))^2

	0
	2
	0

	0.1
	1.809675
	0.032749

	0.2
	1.637462
	0.107251


　　　　　　：

	9.8
	0.000111
	1.18E-06

	9.9
	0.0001
	9.87E-07

	10
	9.08E-05
	8.24E-07

	
	積分
	0.999993


(3-2)
a) 9457.699522
b)給与　予測給与 
	13876
	14821.46808

	10535
	9457.699522

	12313
	12088.89628

	14975
	15993.67272

	11417
	10629.90416

	20263
	20669.96392

	13425
	13261.10092

	13839
	13847.20323

	22884
	19797.07411

	16978
	18338.08199

	14803
	15019.40787

	17404
	18924.18431

	23174
	24186.57783

	14861
	14732.62038

	16882
	17363.81714

	26330
	23899.79034

	17949
	18536.02177

	25685
	27117.08941

	27837
	25658.09729

	19207
	20294.32873
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c) 管理責任

回帰分析の解答のグラフは散布図を選択。実際の給与、実際の給与、予測給与の順に並べてグラフを作成。その際、実際の給与を大きい順に並び替えるとよい。方法は範囲選択→データ→並べ替え→昇順でOK。
ちなみに最初の問題は授業でやった問題がそのまま出た。コピペでOK。
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(4-1-1)

DEFDBL  A-Z

DEF FNX(X)= 4*(exp(-X))^2*X^2

INPUT jougen

INPUT kagen

INPUT kubunsu

DX= (jougen-kagen)/kubunsu

X= kagen

S= 0

FOR I = 1 to kubunsu step 1

Y=FNX(X)

S= S+Y

X= X+DX

NEXT I

S= S*DX

Print using "##.##から###.##までの積分は##.######です"; jougen; kagen; S

WAiT 500

end

(4-1-2) 0.999993 ６桁までは等しい。

(4-1-3)区分数100        0.999993

             1000      1.000000

             10000     1.000000

             100000    1.000000

(4-2-1)

Input yokin

input HIKIDASIGAKU

Input rishi

Print using "預金額     #########"; yokin

Print using "引き出し額  ####"; hikidasigaku

Print using "年利     ###.#####"; rishi

X=yokin*(1+rishi)

Z=X-hikidasigaku

for I = 1 to 10000000 '何でもいい　大きいとなおよい
Z=Z*(1+rishi)

IF Z<hikidasigaku then goto 10 else goto 11

11 Z=Z-hikidasigaku

print using " ####年目の残金は#####円　";I ;Z

next I

10 print using " 最終残金　#######円　"; Z

Wait 500

end

冷静にやれば難しくはない。過去のプログラムを改変するだけでOK。ただし、あっている保証はないので気をつけていただきたい。実際に走らせてほしい。
最後に。適当に作ったものである。しかし、参考にしていただければ幸いである。
